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Q.1 Tick the correct answer: -

1. Indian Railways are the largest network in: -

a. Africa b. Asia

. A pacific ocean and the Atlantic Ocean are joined by: -
a. Panama Canal b. English Canal

. Railways were introduced in India: -
a. 1847 b. 1853

. Change in mode of transportation took a new turn with the beginning of: -
a. Industrial Revolution b. Invention of Wheel

. Which of the following is used for verbal communication?
a. Telephone b. Letter

. Which of the following is a means of mass communication?
a. Letter b. Newspaper

. Helicopter service is a part of airways.

a. True b. False

. Who invented Air plane: -
a. Wright Brothers b. black brothers




9. First railway line connected Mumbai with Thane.
a. True b. False
10. ‘Palace of Wheels’ has a luxury train meeting the needs of rich people.

a. True b. False

11. Man started travelling on water long ago.
a. True b. False

12. The steam ship was an invention of a single person.
a. True b. False

Q.

. Complete the sentences: -

. The Panama Canal joins and

. The ships dedicated to carry petroleum are called

. In India all important towns are connected with

. Birds communicate with each other

. Re-arrange the letter: -

. NETERINI 3. TERLET

. PANEWSPER 4. PHELETONE
. Answer the following questions: -

. Who built first practical steam boat?

. What is communication?

. Who was the first person who flew a plane non-stop across the Atlantic
Ocean in 1927?

. Name the persons who successfully flew the plane for the first time.

. Why ships trade is cheaper than the other modes of transportation?

. How railways are useful to the Armed forces?
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